GCSE Mathematics – Tier H.
FUNCTIONS.

In these questions, find the value or expression and simplify if necessary.
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a) f (5)

b) f (-4)
c) f (0.5)
d) f (-1)
e) f (x + 1)
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a) f (5)

b) f (-3)
c) f (0.1)
d) f (-1)
e) f (x - 1)
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a) f (3)

b) f (-3)
c) f (0.1)
d) f (-1)
e) f (x + 1)
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a) f (-7)
b) f (x+1)
c) f (2x)
d) f (3x)
e) f (x - 1)
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a) g (5)
b) g (-3)
c) g (x+1)
d) g (x-1)
e) g (3x)
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a) g (5)
b) g (-3)
c) g (x+1)
d) g (x-1)
e) g (3x)
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a) g (2)
b) g (-3)
c) g (x+1)
d) g (x-1)
e) g (3x+1)
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a) g (-1)
b) g (-3)
c) g (2x+1)
d) g (3x-1)
e) g (6-x)
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a) g (x-1)
b) g (x-3)
c) g (2x-1)
d) g (4x)
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a) g (x-2)
b) g (-3x)
c) g (2x+1)
d) g (3x-1)

f(x)
g(x)
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Use the sketch graphs above to sketch the graphs of the following functions, labelling clearly any important points:

1. f (x+1)


2. f (x-3)


3. f (x)+3


4. f (x)-7

5. f (2x)


6. f (-3x)


7*. f (2x+1)


8*. f (2x-1)+3
9. g (x+3)


10. g (x-5)


11. g (x)-2


12. g(x)+1

13. g (3x)


14. g (-x)


15*. g(2x-3)


16*. g (4x-2)-1
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